Table S1: Equations for Bax activation module

d["(fax] = p,—u, -[InBax]—k,, -[InBax]-[Act] - k,,; -[InBax] - [ AcBax]

% =-U, -[ActBcl2] + k, -[InBax] - [Act] -k, [AcBax]-[Bcl2]
+ k5 -[AcBaxBcl2] -k, -[AcBax]-[ActBcl2] + k,, -[AcBaxBcl2] - [ Act]
— ks -[AcBax] + k,,; -[Ena] - [AcBaxBcl2] -k, -[AcBax] - [EnaBcl 2]

— Ky - [InBax] - [AcBax] - 2 -k,,, - [AcBax]® +2-k,,, -[MAC]

GBS b, —u, -[Bol2] -k, {AcBaX]-[Bl2] + ki -[AcBaXEeI2]

— Ky, -[Act]-[Bcl2] + k, - [ActBcl2] - k,, -[Ena] - [Bcl2] + k,,, - [EnaBcl2]

d[Act]
dt

=p, —U, -[Act] -k, -[InBax] - [Act] -k, -[Act]-[Bcl2]

+ ks - [ActBcl2] + ks - [AcBax] - [ActBcl2] — k,, - [AcBaxBcl2] - [Act]
+ Ky, - [Ena]-[ActBcl2] - k., -[Act] - [EnaBcl2]

% = U, -[ACtBel2] + Ky, - [Act] - [Bcl 2] — kyq - [ActBel2]

—kys -[AcBax]-[ActBcl2] + k,, -[AcBaxBcl 2] -[Act]
—Ky -[Ena]-[ActBel 2] + k., - [Act] - [EnaBcl 2]

d[AcBaxBel2] =-U, -[AcBaxBcl2] + k,, - [AcBax] - [Bcl2] — k,, - [AcBaxBcl 2]

dt
+ Ky - [AcBax] - [ActBcl2] - k,; - [AcBaxBcl2] - [Act]
— k.15 - [Ena] - [AcBaxBcl2] + k,,, - [AcBax] - [EnaBcl 2]
d['jt”a] = p, —u, -[Ena]—k,, -[Ena]-[Bcl 2] + k,,, -[EnaBcl 2]
— Ky, -[Ena]-[ActBcl 2]+ Ky, -[Act]-[EnaBcl 2]
— K5 -[Ena]-[AcBaxBcl 2] + ky,, -[AcBax]-[EnaBcl 2]
+ kpuma [p53]np /(Kfnp +[p53]np)
w =—U, -[EnaBcl 2] + k,, - [Ena] - [Bcl 2] - k,,, - [EnaBcl 2]
+ K1, -[Ena]-[ActBcl 2] - k,,, - [Act] - [EnaBcl 2]
+K,5 - [Ena]-[AcBaxBcl 2] - k,,, -[ AcBax]-[EnaBcl 2]
d[MAC] _

pm =-U, -[MAC] + K, -[InBax] -[AcBax] + k,,, - [AcBax]* —k,,, - [MAC]
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